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 
 

 

 

 

 

 𝐱 

 
 

 𝑥 =
 𝑥𝑖

𝑛

 𝑥𝑖 =
       𝑛 =  

 

 𝑥1 , 𝑥2 , 𝑥3 ……… . 𝑥𝑛 𝑘 𝑓1, 𝑓2, 𝑓3, … . 𝑓𝑛
𝑓1𝑥1 + 𝑓2𝑥2 + 𝑓3𝑥3 +  ……… . +𝑓𝑛𝑥𝑛 𝑛 = 𝑓1 +

𝑓2 + 𝑓3 + ⋯ . +𝑓𝑛 =  𝑓𝑖
𝑘
𝐼=1

∴ 𝑥 =
𝑓1𝑥1+𝑓2𝑥2+𝑓3𝑥3+ ……….+𝑓𝑛𝑥𝑛

𝑓1+𝑓2+𝑓3+⋯.+𝑓𝑛
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∴ 𝑥 =
 𝑓𝑖𝑥𝑖
𝑘
𝐼=1

 𝑓𝑖
𝑘
𝐼=1

 

 𝑥 =
 𝑓𝑖𝑥𝑖

𝑛

 𝑥 = 𝐴 +
 𝑓𝑖𝑑𝑖

𝑛

 𝑥 = 𝐴 +
 𝑓𝑖𝑢𝑖

𝑛
× 𝑐

𝑐 =
𝐴 =

 

 
 

 (𝑥 − 𝑥 ) = 0
 

𝐌

 
 

 𝐌
 

𝐌 =
𝑛

2
  +   

𝑛

2
+ 1 

2

  𝐌 =
𝑛+1

2
  

 
 

 𝑀 = 𝑙 +
(
𝑛

2
 − 𝑐𝑓)

𝑓
× 𝑐

𝑀 =
𝑙 =
𝑓 =
𝑛 =
𝑐𝑓 = 𝑐 =
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 
 
 

𝐙

 
 

 𝑧
 

 𝑥 𝑛 𝑥

 
 

 
 

 𝑍 = 𝑙 +
 𝑓1−𝑓0 

 2𝑓1−𝑓0−𝑓2 
× 𝑐

𝑍 = 𝐶 =
𝑓0 =
𝑓1 =
𝑓2 =
𝑙 =

 

 
 

  𝒁 = 𝟑𝑴 − 𝟐𝒙 
 

 

 𝑋 − 𝑌 −

 𝑋 − 𝑌 −

9.5 10-20 20.5 
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1 : 7,9,12,9,12,8,4,6,9,15,20,8,9.  𝑴 − 𝟎𝟏 

2 : 96,98,100,102,104.

3 : 337,338,339,340,341.

4 : 46,48,50,52,54.

5 : 6,−1, −5,7,8,6,−9,3,−4,0.

6 15 : 31,35,27,29,32,43,37,41,34,28,36,44,45,42,30

7 : 3,4,2,1,2,4,3,5,3.

8 : 101,108,100,108,111,101,108,105,107,101.

9 : 56,54,50,60,55,51,59,52,57,58,53.

10 0,2, 𝑎, 3,6,7. 3
𝑎  𝑱 − 𝟗𝟗, 𝟐𝟎𝟎𝟎 

11 :
3

5
,

5

3
,

4

3
,

5

6
,

7

6
.  𝑱 − 𝟎𝟏 

12 8 : 40.8,40,55.8,61.4,46.2,66.6,57.4,64.4
 𝑱 − 𝟎𝟏 

13  𝑥1 , 𝑥2 , 5𝑥1 12 14
 𝑥1 < 𝑥2 < 5𝑥1  𝑴 − 𝟗𝟖 

14  𝑥1 , 𝑥2 , 3𝑥1 8 8
 𝑥1 < 𝑥2 < 3𝑥1  𝑴 − 𝟎𝟐 

15 12,13, 𝑥, 17,18,20 16 𝑥  𝑱 − 𝟎𝟏 

. 5 100  𝑴− 𝟎𝟐, 𝑱 − 𝟎𝟐 

0 1 2 3 4 5 

1 7 20 64 5 3 

. 2 100 100  𝑻𝑩 𝒆𝒙 − 𝟏 

15 20 25 32 35 45 50 60 70 77 80 85 90 92 95 99 

2 3 7 4 10 12 9 8 6 8 11 9 4 2 3 2 

. 100

58 59 60 61 62 63 64 65 66 

8 10 17 18 16 11 10 5 5 

 

50-70 70-90 90-110 110-130 130-150 150-170 

10 18 7 6 5 4 

 

10-20 20-30 30-40 40-50 50-60 60-70 

2 10 40 25 13 10 

If a drop of water falls in a lake,there is a no identity,but …..If it falls on a leaf of lotus 
it shines like a pearl. What do you want to do…?decision is on your hand, choose the best. 

DwIS 
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.  𝑻𝑩 𝒆𝒙 − 𝟐 

0-10 10-20 20-30 30-40 40-50 50-60 60-70 

4 8 3 20 3 4 8 

P  𝟏𝟓. 𝟏𝟏 

00-50 50-100 100-150 150-200 200-250 250-300 300-350 

10 15 30 20 15 8 2 

. 10 140 50
 𝑴 − 𝟏𝟐 

0-10 10-20 20-30 30-40 40-50 

20 24 40 36 20 

 𝑻𝑩 𝒆𝒙 𝟒  

10-20 20-30 30-40 40-50 50-60 60-70 

2 10 40 25 13 10 

P  𝟏𝟓. 𝟏 𝟒 

40-50 50-60 60-70 70-80 80-90 90-100 

5 10 20 9 6 2 

. 

 𝟏𝟓 𝟏 

50-53 53-56 56-59 59-62 62-65 

20 150 115 95 20 

.  𝟏𝟓. 𝟏 𝟐 

100-

150 

150-

200 

200-

250 

250-

300 

300-

350 

350-

450 

450-

500 

500-

550 

550-

600 

4 8 14 42 50 40 32 6 4 

.  𝟏𝟓. 𝟏 𝟓 

1-5 6-10 11-15 16-20 21-25 26-30 31-35 

18 32 30 40 25 15 40 

. 𝑩.𝑩. 𝑨. 600  𝟏𝟓.𝟏 𝟔 

200-299 300-399 400-499 500-599 600-699 700-799 800-899 

3 61 118 139 126 151 2 

.  𝟏𝟓. 𝟏 𝟕 

100-200 200-300 300-400 400-500 500-600 600-700 

5 3 3 6 2 1 

. 

 𝟏𝟓. 𝟏 𝟗 

15-25 25-35 35-45 45-55 55-65 65-75 75-85 

6 10 5 6 4 2 2 
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.  𝟓𝟎  𝟏𝟓 𝟐 

100-120 120-140 140-160 160-180 180-200 

12 14 8 6 10 

. 16  𝑻𝑩 𝒆𝒙 𝟑 

0-4 4-8 8-12 12-16 16-20 20-24 24-28 28-32 32-36 

6 8 17 23 16 15 - 4 3 

. 125 22.12  𝑻𝑩 𝒆𝒙 𝟓 

0-4 5-9 10-14 15-19 20-24 25-29 30-34 35-39 40-44 

3 8 12 - 35 21 - 6 2 

. 100 148  𝟏𝟓.𝟏 𝟖  𝑱 − 𝟏𝟓,𝑴 − 𝟏𝟔 

0-49 50-99 100-149 150-199 200-249 250-299 300-349 

10 15 𝑓1 20 15 𝑓2 2 

. 64 18
 𝟏𝟓. 𝟏 𝟏𝟎 

11-13 13-15 15-17 17-19 19-21 21-23 23-25 

7 6 𝑓1 13 𝑓2 5 4 

. 200 332  𝟏𝟓 𝟑 

100-

150 

150-

200 

200-

250 

250-

300 

300-

350 

350-

400 

400-

450 

450-

500 

500-

550 

4 8 𝑥 42 50 𝑦 32 6 4 

 𝟏𝟓. 𝟐 → 𝟏  𝑴−𝟏𝟓 

4-8 8-12 12-16 16-20 20-24 24-28 

9 6 12 7 15 1 

100  𝟏𝟓. 𝟐 → 𝟐 

 0-100 100-200 200-300 300-400 400-500 500-600 
 12 18 27 20 17 6 

 90  𝟏𝟓. 𝟐 → 𝟑 

 
150-

250 

250-

350 

350-

450 

450-

550 

550-

650 

650-

750 

750-

850 

850-

950 

 4 6 8 12 33 17 8 12 

 𝟏𝟓. 𝟐 → 𝟒 

0-7 7-14 14-21 21-28 28-35 35-42 42-49 49-56 

26 31 35 42 82 71 54 19 

 𝟏𝟓. 𝟐 → 𝟓 

0-20 20-40 40-60 60-80 80-100 100-120 120-140 140-160 160-180 

11 14 18 21 31 27 12 11 10 

AC],S 
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 𝟏𝟓. 𝟐 → 𝟔 
 0-20 20-40 40-60 60-80 80-100 100-120 

 26 31 35 42 82 71 

 𝟏𝟓 → 𝟒 

0-15 15-30 30-45 45-60 60-75 75-90 90-105 

8 16 23 57 33 23 13 

 𝟏𝟓 → 𝟓 

30-40 40-50 50-60 60-70 70-80 80-90 90-100 

12 17 28 23 7 8 5 

 𝟏𝟓 → 𝟕 

1500-

2000 

2000-

2500 

2500-

3000 

3000-

3500 

3500-

4000 

4000-

4500 

4500-

5000 

14 56 60 86 74 62 48 

 20
 𝑻𝑩 𝒆𝒙 → 𝟕  𝑴− 𝟏𝟑 

1-3 3-5 5-7 7-9 9-10 

7 2 8 2 1 

 𝑻𝑩 𝒆𝒙 → 𝟖 

10-25 25-40 40-55 55-70 70-85 85-100 

05 21 21 08 25 20 

34.5 𝑎, 𝑏  15 → 6 

5-14 14-23 23-32 32-41 41-50 50-59 59-68 

5 11 a 53 b 16 10 

 𝟏𝟓. 𝟐 → 𝟏 

12 13 14 15 16 17 18 19 20 

7 10 15 18 20 10 9 8 3 

 𝟏𝟓. 𝟑 → 𝟐  𝑴 − 𝟏𝟑 

4-8 8-12 12-16 16-20 20-24 24-28 

9 6 12 7 15 1 

 𝟏𝟓. 𝟑 → 𝟑  𝑴 − 𝟏𝟒 

0-100 100-200 200-300 300-400 400-500 500-600 

64 62 84 72 66 52 

 𝟏𝟓. 𝟑 → 𝟒 

0-10 10-20 20-30 30-40 40-50 50-60 

1071 1245 150 171 131 8 

 𝟏𝟓. 𝟑 → 𝟕 

DwI:Y 
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0-10 10-20 20-30 30-40 40-50 50-60 

2 5 8 16 9 5 

 𝑬𝑿 → 𝟗  𝑱 − 𝟏𝟓 

20-25 25-30 30-35 35-40 40-45 45-50 50-55 

2 5 8 10 7 10 3 

 𝟏𝟓 → 𝟖 

10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 

9 11 15 24 19 9 8 5 

 525 100 x  y  𝟏𝟓 → 𝟗 

0-100 100-

200 

200-

300 

300-

400 

400-

500 

500-

600 

600-

700 

700-

800 

800-

900 

90-

100 

3 4 x 12 17 20 9 y 8 3 

 38 100 a  b  𝟏𝟓. 𝟑 → 𝟓 

10-20 200-300 300-400 400-500 500-600 600-700 700-800 

4 x 12 17 20 9 y 

 𝑬𝑿 → 𝟏𝟏 

5-10 10-15 15-20 20-25 25-30 30-35 35-40 

2 9 3 6 4 4 2 

38.2 𝑎, 𝑏  15 → 6 

5-14 14-23 23-32 32-41 41-50 50-59 59-68 

5 11 a 53 b 16 10 

. 350  𝑴 − 𝟏𝟓 

100-200 200-300 300-400 400-500 500-600 600-700 

5 3 3 - 2 1 

.  𝑴 − 𝟏𝟓 

0 

 

50 

 

100 

 

150 

 

200 

 

250 

 

6 8 17 23 16 15 

. 230 46  𝑱 − 𝟏𝟒,𝑴 − 𝟏𝟔 

10-20 20-30 30-40 40-50 50-60 60-70 70-80 

12 30 𝑓1 65 𝑓2 25 18 

.  𝑱 − 𝟏𝟒 

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

3 5 7 10 12 15 12 6 2 8 

.
𝑋

5
, 𝑋,

𝑋

4
,
𝑋

3
,
𝑋

2
10  𝑱 − 𝟏𝟒 

. 𝑋 = 35.8, 𝑓𝑖𝑢𝑖 = 4 , 𝑓𝑖 = 50, 𝐶 = 1 0 𝐴  𝑴 − 𝟏𝟒 
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. 𝑍 −𝑀 = 2.5  20 𝑍  𝑱 − 𝟏𝟑  
 𝑱 − 𝟏𝟑 

4-8 8-12 12-16 16-20 20-24 24-28 

3 9 10 4 17 2 

 𝑱 − 𝟏𝟑 

 100-200 200-300 300-400 400-500 500-600 600-700 

 5 3 3 6 2 1 

. 18  𝑴 − 𝟏𝟎 

11-13 13-15 15-17 17-19 19-21 21-23 23-25 

3 6 9 13 𝑓 5 4 

.  𝑴 − 𝟎𝟕 

0-10 10-20 20-30 30-40 40-50 

20 10 20 30 20 

.  𝑴 − 𝟎𝟕 

20-30 30-40 40-50 50-60 60-70 

20 24 40 36 20 

 𝑴 − 𝟏𝟔 

20-29 30-39 40-49 50-59 60-69 

15 20 50 30 10 

. 27  𝑴 − 𝟏𝟐 

5 15 25 35 45 

20 10 - 30 20 

. 113.26  𝑱 − 𝟏𝟏 

110 111 112 113 114 115 

4 6 15 30 f 20 

. 43.75  𝑱 − 𝟏𝟏 

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

8 4 20 45 64 32 f 8 2 2 



 

 


